® —4x% - xy




2. (=2x+5y)(2x + 5y) — (3x + 4y)(3x — 4y) & 7FHo] 5HH?

@—13)62 + 41y? @ -15x% + 16y? @ -15x% + 31y?

@ —41x2 + 10y? ® -45x% + 16y

—(2x)* 4 (5y)* = {(3x)% + (-4y)*}
= —4x? + 25y% — 9x2 + 16y?
= —13x% + 41y
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ohg DA A 2R Hol g x, y o]
et Ao 2 vp2 A el 2129

@ (2x+2y)(3x +y) = 6x2 + 8xy + 2y2

@ (2x-2y)(3x +y) = 6x% — 4xy - 2y
@(2x +2y)(3x —y) = 6x° + dxy - 2y°
@ (3x+2y)(2x-y) = 622 + xy = 2

® (3x—2y)(2x +y) = 6x2 — xy — 2y?

_--2X--__ 2y

~&B

At B10] 7129 dol= (2x + 2y),
A=) dol= (3x—y) °Ith

weba] AR BE O] Wol=

(2x + 2y)(3x —y) = 61 + 4xy —




4. WHe] Zol7t 4a A A7) Wol7} 20a% + dab D, ]
fofat,

>
> = 10ab+ 20

1)

i

~&B

1
20a?b + 4ab = 5 Xdax (=°l)
20ab + 4ab
(o)) = =2
2a
_ 20a*h | 4ab
T 2 2a
= 10ab + 2b




5. (Bx-5)(2x+3) =Ax®> + Bx+ ColA A5 A, B, CIFA+B+C
o] g7

@ -12 @ -11 @—10 @ -9 ©® -8

~&B

(3x—-5)(2x+3)

= 6x% + 9x + (-10x) + (-15)
=6x2-x-15
JA+B+C=6+(-1)+(-15) =-10
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6. (x+4) ="+ Bx+ o oM A B GROR VST AT BT

A2H?
1 2 1 1
A=_-,B== A=-,B=~
@ 9’1 ’) ? '(f ’)
A=->, B=- A—- B——=
@ %7 32 @ 9’ 9
A=--,B=-=
@a--5 8-

1
(x+A)2:x2+2Ax+A2:x2+Bx+g

1 1 2 1
A2:—O]EEAzgoa]uﬂBzg,A:—goa]UﬁB:——
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@ x +2x+34
@ x*-3x+=

ANt A2?
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@ «x 2x+4
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x2—2><x><§+

3
2

;

=x2-3x+ -




8. (x+a)(x-5)=x>+bx+15<L , a, b2 FF2?

® a=-8, b=-8 @ a=-8,b=-5
@)a=-3. b=-s @ a=3b=5
®a=3,b=-5

(x+a)(x=5)=x2+ (a-5)x—5a=x*+bx+ 15
2t a-5=b, —5a=159|B2 g=-3, b = -8 o|t}.




9. (2x-3y)2-4(x-Ty)(3x+2y) & Aot 7FA5] gt A0 ax?+bxy+cy?
A, a+b+c 2 G2 T

® -25 @ -9 ® 9 @ 7 @121

(2x = 3y)? — 4(x = Ty)(3x + 2y)

= 4x? — 12xy + 9y? — 4(3x% — 19xy — 14y?)

= 4x% — 12xy + 9y% — 12x2 + 76xy + 56y>

= —8x2 + 64xy + 65y2

WA g+ b4 ¢ = -8 + 64 + 65 = 121 O[T},




10, x(x+1)(x=2)(x=3) & DA NA x* o] Aot Fodo] o= 75

ofet.
> =

> ®EeH: 1

~&B

x(x+1)(x—2)(x-3)
— (x(x = DN + 1) (x - 3))
= (x? = 2x)(x% = 2x - 3)
—3x% +4x? = x? O|BE x2 o] A= 10| A
L14+0=1
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11. cre A 2a°b + 3ab B 4ab — 5b < 7bchs) 549
ab b
(@)-2a+ 385 @ -2a-8b ® 6a-8b
@ 6a-2b ® 2a+8b

2a2b + 3ab®>  4ab - 5b*
ab b

=2a+ 3b—4a+ 5b
= —2a+ 8b
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(x—a)(2x—|—5):2x2—? Ao, 2a-b O 27 (H,b>0)

@ -20 @ -15 ® -10 @ -5 @0

~&B

9) () =262 (3)

“2a-b=5-5=0
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(1004 — 1)(1004 +1) +1 1004 — 1 + 1

1004 1004
= 1004
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15. (15xy - 2x3y — 5xy2) = lexy £ 716 & o,
Al4=9] o2 F5holzt.
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1
(15xy — 2x3y — 5xy?) + R
= (15xy — 2x%y — bry?) + =

= (15xy — 2x3y — 5xy?) x —

xy
= 60 — 8x% — 20y
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>
> HE: 10ab + 10

o o,

~&B

H7159] =°l|& het shAt
a’nx h=10(ab + a*)n

1
" h=10(a*b + a*)n X —— = 10ab + 10
a’n




17, 2(4+2) (42 +22) (4* +2%) (48 +2%) =49 - 20 o, A5 a, b 9]
a+bo 27

@ 2 @ 4 ® 16 @32 ® 64

B

2=4-20]B2

(4-2)(4+2)(4% +22)(4* + 21) (48 + 28)
= (42 - 22)(42 + 22)(4" + 2%)(4° + 29)
— (44 _ 24)(44 + 24)(48 + 28)

= (4% - 25)(4° + 2°)

— 416 _ 916

La+b=16416 = 32
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@ (=x% +2y?*)cm? @ (-x? - 2y?)cm?
@(—x2 + 3xy — 2y?)cm? @ (=x% + 6xy — 2y?)cm?

® (=x + 9xy — 2y*)cm?

~&B

AB £ EB °l, GD € GH ol HA == H3ith= 22 0ABEG
¢} oGHFD 7} A ol 2t Seoltt.

GD 9] Zo]& x—y °|1, oGHFD ©] Azt o|n g GH 20|
T x-yolth

w2b HE 9] Aol y - (x-y) = —x+ 2y°|th

AtZEe HECF 9] Yol (x—y)(—x +2y) = —x? + 3xy — 2y ©]
.
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© -3 @ 6 3)9 @ 15 ® 21

B ‘

x—y=A, x+ 2y = B2} olH
x—y+2)(x—y+3)—(x+2y-3)2
:(A+2)(A+3)—(B—3)2

=A2+5A+6-B2+6B-9
=(x-y)2+5(x-y)+6—(x+2y)2+6(x+2y) -9
=x2-2xy+y? +5x -5y +6— x> —dxy—4y? + 6x+ 12y - 9
=-3y> —6xy+11x+7y-3

A A YA Y AGY] & -3-6+11+7=9
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1 3
@ 2ab - 47 @ 2ab—c;27r @Zab— §a27r
@ 2ab - 2a*n ® 2ab- §a27r

~&B ~

1 1
S =2ab—zlxnx(2a)2—§xnxa2
= 2ab — a’n — =d’n

= 2ab — §a27r




